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We have neither given nor received any unauthorized aid in this graded assignment.

____________________________________________________________________

_____________________________________________________________________
Objective:
The purpose of this lab was to toggle pin 4 of port A until someone hits a key.  When a person hits a key on the key board, the display prints iteration 1, iteration 2, ….. iteration 10.  Once this starts it repeats itself until someone hits the key again.  

Code:

We have attached our C code and Assembly.  The file size for our c.s19 is 4.79 KB this takes up 130 lines of machine code.  The file size for the asm.s19 file is 278 bytes ad is only 5 lines of machine code.  The main reason for the size difference is the specific commands.  When using C a compiler as a general routine for each command.  When you program in assembly the programming is more precise so you are not doing unnecessary steps when making the program.  If storage space is an issue it may be better to program in assembly.
Period:
The periods of part a in the lab are much faster than the periods of part B.  Our period for part A of the C code was 79 microseconds and the assembly code period was 54 microseconds.  The assembly code is closer to the point the machine code is more accurate and precise so the period is smaller for the assembly code.  Our period for part B was the same for both languages, 60 milliseconds.  The reason part B has the same period is that we put a delay loop in the assembly code after each print statement.  This was done so that the processor would have time to read an input before moving to the next step.

Efficiency:

In order to make your code shorter it is a good idea to make loops where possible and all code should be directly to the point.  It would be easier to make the C program faster than the assembly.  To make the C program smaller with a faster frequency we could use a better compiler than the ICC.  A good compiler will make the code as short as possible.  
Results:

We will attach our c code and or assembly code.  All of our objectives were met in this lab.  We successfully toggled pin 4 port A and measured the period using an oscilloscope.  We now have an understanding of when a person may want to use assembly code even though C code may be easier to write.  Assembly would be used in a situation when memory is an issue.
